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( C )2. Draw a pentagon. How mamy right angles can you find at most?
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( A )6. The sum of two natural numbers is 20, and the difference must be less
than 8. How many sets are there such conditions?
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* 1933-184+329=2078 JT °
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* 104+999-1000=1009-1000=9 °
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)12. 30~ > > ~ 54 ~ 60 ~ 66 ° Which one is the incorrect?
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66—60=6 * 6 {@—2 > 30+6=36 * 36+6=42 * 42+6=48 * I35 38 R FTS °

) 13. BBIE_FIIRBTHRF D ="H R » KRBT D —Fi6 5/
B NBREEZDIT?
(A)127T (B)800JT (C)12007 T (D)1600 JT

24+3=8 > 8+2+8=12 3k » 12x100=1200 JT °
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1 3x4=12 ° 28—12=16 " 16+4=4 ' 4+3+3=102R °
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: 50x20=1000 H&EB 3{@ 0 -
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: BN ERZE 2 » |RRE 9753 ' Bx/J\@ 1357 » 9753—1357=8396 °
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=10x12+50x16+5x48=120+800+240=1160 (RE)
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fRE : 173x9=1157 > 9+7=16 °
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